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NO | HEES BEEFL RIS Ut 5v/n) xBHE | s
cm 50cm 1.0m
1 A—4 |BARI#ADO 0.16 0.16 0.16] Eh (FEE3cm)
2l B—3 [IRSMKEE 0.09 0.09 0.09 ED)
3 B—4 |E/RI{ETE 0.15 0.14 0.14 =
4 B—5 |HHELRE 0.10 0.11 0.10 £
5 B—5 |AhhAREE 0.08 0.09 0.08 =
6] B—5 |RIR(EH)ME 0.09 0.09 0.09 £Y
7 B—5 [XK(HEp){hHE 0.09 0.11 0.11 £
8] B—5 |FEZ&RE 0.06 0.06 0.06 £1)
9] B—6 |THHALERSE 0.09 0.12 0.11 B
10 B—6 | TFHeJITE 0.07 0.07 0.08 Bh
11 B—6 [FHEMBEREROFO) A 0.09 0.09 0.10 BEh
12 B—6 |HhEfHE 0.08 0.08 0.08| =Y (38F2cm)
13 B—6 b AT 0.11 0.12 0.12 BEh
14 B—6 |FHABHE 0.07 0.09 0.10 BEh
15 B—6_|RI/EAREEHI 0.11 0.12 0.12[=Y (FFF2cm)
16] B—6 [XKIBRZLEHHE 0.09 0.09 0.08 ED)
17/ B—7 |/NAEFHIE(EXRAEIE ) 0.08 0.09 0.10 Bh
18/ Cc—3 [FARMEAO 0.13 0.13 0.12 =l
19 C—8 [#/Afr=&dHith AOfHE 0.10 0.10 0.10[ =Y (FFF2cm)
200 Cc—4 |#BOL#R 0.09 0.08 0.09 ED)
21 C—4 | FHX(BHZEEE) 0.07 0.07 0.07 =
22l C—4 [BXEHHE 0.11 0.11 0.11 ED)
23] C—4 [PXRFTIU—2FH9U(RE) (1) 0.08 0.08 0.09 ED)
24 C—5 |EENREE 0.07 0.08 0.09 D)
25 C—5 P9 LI 2 3h 45 i 0.12 0.11 0.11 =
260 Cc—5 |X&£1F 0.12 0.12 0.12 =)
2711 C—5 |TFrEAEHK 0.09 0.10 0.09 ED)
28] C—6 [5OFENE 0.07 0.09 0.09 B
29] Cc—6 |EIALNEREEER 0.10 0.10 0.10 BEh
300 C—6 |[HEUIZXFE#AD 0.08 0.09 0.09 BEh
31 C—6 |HBILuTZEFHEKhEFEER 0.22 0.20 0.17 =l
32l Cc—6 [LATULAERI 0.09 0.09 0.08 BEh
33] C—6 [MEAIF{HE 0.09 0.10 0.09 BEh
34| C—6 |[F=EIREEEHEIZHTH 0.10 0.10 0.09 B
35| C—6 |IUTREENE 7—(EAH) 0.09 0.09 0.09 BEh
36| C—6 |[IUTHESZERAEE 0.10 0.10 0.10 B
37] C—7 [N\ AVEB 0.08 0.07 0.08 BEh
38] Cc—7 [KEABE(E) 0.09 0.09 0.09 BEh
39 c—7 [/NAERZLER 0.10 0.10 0.10 B
40 C—7 |EBFEEERIEM{HA 0.09 0.09 0.08 BEh
41 CcC—7 |E¥3FEA&EMTE 0.08 0.08 0.08 BEh
42| C—7 |HIUEEEHE 0.08 0.08 0.09 BEh
43| C—7 |[EhEhh (BiE15) 0.08 0.08 0.08 B
44| C—7 | KFHFHIEFRMA 0.12 0.12 0.13 B
45| C—8 |BER(hHFE) 0.12 0.13 0.12 B
46| D—2 |IH¥Y—rwkCcCAO 0.12 0.12 0.12 B
471 D—3 [PAFE®E 0.13 0.12 0.11 =l
48] D—3 |HEAERfEFHA 0.10 0.10 0.10 *U(#ﬁ E2cm)
49| D—4 |[SBNGERDfHE 0.07 0.07 0.07 [T
50 D—4 |EBHEA/AMNK 0.09 0.08 0.08|Eh (FEE1cm)
51 D—4 [EPRAESE 0.12 0.12 0.12 *U(#ﬁ E3cm)
52| D—5 |FihEEiE At 0.12 0.13 0.13 B
53] D—5 |EEE/MFKR(BIEIFH]) 0.08 0.07 0.07 gfgu
54| D—5 |BENREEH] 0.11 0.11 0.12 Bh
55| D—5 |[IBEMRAREEH] 0.07 0.08 0.09| Bh (FEE2cm)
56| D—5 |EE/HAQfhA 0.09 0.10 0.10 B
5711 D—6_ |}fARYILI SR 0.09 0.09 0.10 BEh
58/ D—6 |[BFH—TFTU2E 0.08 0.08 0.08 BEh
5] D—6 [EFirOFE#A 0.09 0.08 0.09 BEh
60/ D—6 |[AXsA+FE 0.21 0.19 0.16 BEh
61 D—6 |hEREISGEHELA 0.17 0.16 0.14 B
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cm 50cm 1.0m

62] D—6 [FaEF EEFEkIE 0.12 0.11 0.10 Bh
63] D—6 |EHWUW=—a—43Y  (KE) 0.08 0.08 0.08| k&N (FEE 1cm)
64] D—7 |EFBHEAREFMA 0.10 0.10 0.10 B
65 D—7 | EHEREEVIS 0.13 0.13 0.12 BEh
66 D—7 INAEEHA 0.11 0.11 0.12 Bh
67 D—7 |Z)lhis 0.12 0.12 0.10 BEh
68| D—7 |ELILEE400mAESTiE 0.09 0.09 0.09 B
69| D—7 |FH#HEERAO 0.08 0.08 0.07 BEh
700 D—7 [EEEAE 0.10 0.10 0.10| BN (FEE 1cm)
71 D—7 |VWIAAERETE R A 0.08 0.08 0.07 BEh

72| D—8 |[FEII(HFIE) 0.09 0.10 0.11 B

73 E—2 |#FHME 0.09 0.09 0.09[=Y (FEE3cm)
74| E—2 |EZFHEFDB 0.08 0.08 0.08| £Y (F&F10cm)
75| E—3 |BR/EDihigER 0.09 0.10 0.12 Bh
76| E—4 |[BEARSEH 0.08 0.09 0.09 BN
77 E—4 [BER /IR BEERI 0.09 0.10 0.10|BEh (FaE3cm)
78 E—5 |FRALFHE 0.09 0.09 0.09[FEh (FE8F2cm)
79 E—5 |E8EIRFIHE 0.06 0.07 0.08 B
80| E—6 [|—/Xi#A 0.09 0.09 0.09 Bh

81 E—6 | EEFER=FIFET 0.09 0.09 0.08 BEh
82 E—6_ |/MNHAEHISAMA 0.08 0.08 0.07 Bh
83 E—6_ | KBOEYISUE 0.07 0.07 0.07| k& (FEE5cm)
84 E—6 [BEEFCGEIHFRANO) 0.06 0.07 0.07[FEh (38E5cm)
85| E—7 |FRRFELREFE AR 0.14 0.15 0.13| k& (FEE5cm)
86| E—7 |EHIMSRAIEFAI 0.08 0.09 0.09| kEH (FEE 2cm)
87| E—7 |EERAREERI 0.08 0.09 0.09 n(% E1cm)
88| E—7 |HRARfERI+HFRMA 0.11 0.12 0.12 BEh

89| F—4 |FE/stfhE 0.06 0.06 0.07 n(frﬁ E8em)
90| F—4 |WEBREEEVI—EIHIGH 0.06 0.06 0.06 BEh

91 F—4 |HFaEE AtEHE 2 2 —HI 0.09 0.09 0.09[FEh (38E3cm)
92 F—5 [BAM#A(R289H/5500m% LK E) 0.06 0.06 0.07| B&h (FEE3cm)
93 F—5 [ZERARER 0.09 0.10 0.09 BEh
94 F—5 [RBt 42—ZRHl 0.07 0.07 0.07 BEh
95 F—5 |ZRIGERBISHA/0th 0.09 0.09 0.08[Eh (F8F6cm)
6| F—6 |&LEKHADO 0.07 0.08 0.08 n(frﬁ E50m)
97 F—6  [MEHGET Fi% 0.06 0.07 0.06 Bh
98 F—6 |[E&H&F/N\XEiHE 0.09 0.09 0.09[FEh (F8F2cm)
99| G—1 LTEZF@F@E-XXE) 0.08 0.08 0.07/# mFﬂOcm)
100 G—3 |FAEALEIEHIG 0.10 0.09 0.09 Bh
101 G—4 |SEKGRERGFRISIT{TIR) 0.07 0.07 0.07[BEh (38E5cm)
102| G—4 |EZEHhE — — 0.10| TEAIEARTA
103] G—5 |IBEOEHHCRI—HSTEIEF{HE 0.06 0.05 0.06| k& (FEE5cm)
104] G—5 [IFLEBEEHI 0.06 0.07 0.06| k& (FEE5cm)
105 G—6 | KREBHEHH 0.08 0.08 0.08[Eh (F8F6cm)
106] G—6 |BEHETFK 0.09 0.10 0.09[ & (FEE 10cm)
107] H—3 |[H#H~EHhE 0.08 0.08 0.09 BEh
108] H—4 |EECAIELEE 0.06 0.07 0.08]B&H (FEE 15cm)
109] H-—5 Eﬂ’mﬁﬁ%ﬁﬁ (JEJIA L) 0.08 0.08 0.07|BEh (BEE20cm)
110 H—6 | KEHIFEHDERE 0.07 0.07 0.07|BEh (FEE6cm)
111 1—3 EX =P ED) 0.07 0.07 0.06| B+ (FEFE20cm)
112 1—4 BFERIOCYATILAOMME 0.06 0.06 0.07| k& (FEE43cm)
113 1—4 BADE () 0.06 0.06 0.06| &+ (FEF20cm)
114 1—4 BRORFr JHAO — - 0.08|mED BREFT
115 1—4 IBARLE RS AT R AIF5m UK EAR) 0.06 0.06 0.06 ] B& . (5 F20cm)
116 J—5 |FrELEIHEIF 0.05 0.05 0.05| & (FEF20cm)
117] K—3 BHFro R AOETSHE — 0.05 0.05| B (FEE50cm)
118 K—3 BFWWTE — — 0.03| 5/29(F&EHh)
119] K—3 [EAEfHE - - 0.04] 5/29(f&Hh)
120 K—3 |XEREHBF - - 0.06] F&H (B8 E62cm)
121 K—4 |ifzE — — 0.16] 8/7(FFh)
122] K—4 [#EE — - 0.04] 8/7(BEh)




